2021.3.6

in 44 EEHh H= X v =iE thiE ZiE RFEX R
N A ES 210 1 151 151 108 §eA))
FONAE mE 823 4 1296 864 648 )
= mE 326 3 1080 540 389 )
LwA=< mE 25 1 702 702 540 )
T DL mE 235 1 270 216 162 )
LAX (= 1250 10 1404 194 194 )
] mE 144 1 1234 216 189 Y
AR mE 57 5 0 972 0 )
MhALE mE 525 5 1825 1382 1318 )
AEF mE 368 1 2160 1836 1188 Y
HHA (= 2666 10 3445 3240 1458 )
J\ ¥ mE 380 10 1966 756 605 )
woh mE 25 1 259 173 173 )
T Ak ‘e 71 1 936 936 648 )
W62 (= 1314 0.2 1685 324 162 )
in 4 EEHD = B {1 =iE B Z{E RFEXSD

WA (=) 2499 10 1080 918 648 Hxt
FEIZALA AN 150 10 2160 1944 972 X%t
FEIZALA AN 30 10 2808 0 2376 %t
FEIZALA K& 680 10 3240 3240 2592 e it
FEIZALA BRE 200 10 2376 0 2160 A xt
FEIZALA BRE 490 10 3240 2808 2592 A xt
Z1ES R 480 1 0 367 0 B>t
Z1ES RER 22 1 0 972 0 B>t
Z1ES EP = 90 1 0 140 0 B>t
nNACA EmE 82 1 972 259 259 B>t
[E<E0Y %llﬁ 600 15 1404 1188 1188 B>t
EXEN ERE 300 15 1361 0 227 GizEo]
FrRy EmE 3030 10 648 648 486 B>t
h = LB 6 3 0 3564 0 B>t
fa = IN=) 9 3 0 2268 0 GizEo]
fa = mE 35 3 2268 842 648 A xt
= BEY 33 1 0 540 0 GizEol
= x5 78 1 0 540 0 GizEo]
HDIE = 6 1 1944 0 810 B>t
HDIE = 47 1 1728 432 432 B>t
LwAEL =) 30 1 0 432 0 GizEo]
1z 5 = & 165 1 540 486 475 B>t
Z DS =EE 4 1 0 162 0 GizEol
*%I‘l 20 1 378 0 356 GizEol

T AINSHR 1 15 1 1512 1512 1296 B>t
Jayal)— ’E% 796 10 2160 1170 1080 B>t
H)I757— =S 30 6 1296 486 486 B>t
T 12 15 1 0 486 0 B xt
H——LAR ﬁ% 60 4 0 1188 0 B>t
H=——LARR = 160 4 1404 1404 1188 B xt
S5l = 643 5 1728 1512 1242 B xt
ZpoY .—,%n 100 5 0 1782 0 B>t
B I —a— 20 10 0 1728 0 B>t
A S A0 10 5 0 1512 0 A xt
~Tk =] 712 4 1188 864 648 GizEol
E—<2 =] 96 1 648 468 432 A%t
LLED =0 18 1 0 2160 0 EES)
=Rk FErLL 6 0.2 0 202 0 R %
I=kTh EE 335 0.2 151 119 108 R >t
S=kTh HER 270 0.2 144 0 115 RE %of
S—k<h = 5 18 0.2 0 140 0 R %




=PVAIFA A<= 10 1 0 702 0 GizEol
SPZAED 24 6 1 0 756 0 GEES
EZAES mE 100 1 810 810 648 GizEol
EZAES 24 6 1 0 756 0 GizEol
MNAL & TRk 40 5 0 972 0 A xt
MhAL& TR 10 5 0 1836 0 GizEol
MALE FE 65 5 0 1080 0 GizEol
MALE = 70 5 1836 1836 1188 GizEol
(EFh Lk tiEE 20 10 2700 0 2592 GizEol
(EFh Lk BRE 10 10 0 3996 0 GizEol
HALEEE tiEE 300 1 443 0 432 GizEol
-FhE tiEE 480 20 0 1296 0 GizEol
f-FEh=E dtiEE 1140 20 1620 0 1404 GizEol
-FhE & 23 20 0 5141 0 GEES
(A=< = 14 1 0 2160 0 izES]
A=K il 5 1 0 389 0 izES]
A=K t E 70 1 0 270 0 GizEol
L&OH =0 77 1 918 918 864 GizEol
L&OH h F 24 1 0 419 0 GizEol
PEIVE] AN 2 1 3780 0 3240 GizEol
DEWIE EE 3 1 3888 3888 3671 Bt
PEIVE] = 6 1 0 1663 0 GizEol
PEIVE] Xy 66 1 14040 2160 594 A xt
PEIVE] Xy 2 1 0 4320 0 GizEol
PEIVE] TA)AH 10 1 648 0 605 A xt
PEIVE] —a1— 40 1 0 778 0 GizEol
LHL ¥ 30 1 0 324 0 B>t
LoHL I 81 1 702 0 648 A xt
LHL 2] 6 1 0 405 0 GizEol
HELLM=1T (=) 2231 0.1 119 81 70 GizEol
ZDELET =2 12 1 0 259 0 GizEol
ZDE1ET ¥ 78 1 286 162 162 B>t
ZTR/EDC ¥ 66 1 638 0 295 HExt
ZDED 12 [ 8 1 864 0 843 B>t
Z D EFE tiEE 30 1 1275 523 523 A xt
Z D EFE =) 0 1 0 0 0 GizEo]
FEMI G tiEE 10 1 0 583 0 GizEo]
FEMI G tiEE 6 1 0 1368 0 GizEol
e R = 5 1 3600 0 1500 izESH
FEMI G = 5 1 1 0 3510 0 GizEo]
FEMI G th 36 1 0 228 0 GizEol
FEMI G th 32 1 518 0 400 A xt
B Y 0 24 1 0 351 0 GizEo]
B Y /I 44 1 324 259 259 A xt
B Y mE 0 1 0 0 0 B xt
B Y = 15 12 1 0 252 0 B xt
AHDNA = 4472 10 4860 3564 3240 icESH
Z Dt HE A FFrL 270 1 389 356 356 B>t
Z Dth HE A ZiE 70 1 756 691 648 A xt
Z Dt HE A ZiE 250 1 410 0 367 B xt
o3F3d—)L =75 80 10 0 2160 0 B>t
5 C 7% 90 10 0 3780 0 HExt
5 C =7 490 10 2268 0 2052 icESH
W5 =] 231 0.2 576 346 313 A xt
REAO 5% il 27 9 19980 18900 18900 B>t
EEAOY =0 27 9 0 12960 0 Bt
X—94 = 18 1 570 0 540 RE %of
F—q EhE 61 1 780 0 630 kE %t
INTF 24)E 4940 13 3456 65 65 RE %of
INOTYT 24YJE 110 1 324 324 270 RE it
AL 7—XRbk 85 1 445 0 413 kH 5ot




LEY T AH 51 1 0 496 0 HExt
ZDthEA & el 47 1 24840 151 151 GEES
ZDthEA & AxLa 1 1 0 3888 0 izESH
ZTRHDEE EE 0 1 0 0 0 GizEol
fh EEHh = BT =iE FiE ZiE RFEX R
h =T ‘e 55 3 0 842 0 Bk
PEIVE] ‘e 4 1 3780 3780 3672 Bk
HELLV=IT =) 30 0.1 0 43 0 Bnik
AEF & 20 1 0 1944 0 Bk
HHA EE 3445 10 3764 3764 2306 Bk
o h = 360 1 216 194 130 Bk
W2 =) 16 0.2 0 259 0 Bk
EEAOY =40 27 9 0 10800 0 Bnik
EEAOV = 27 9 11880 0 9720 Bk
EEAOY =40 27 9 0 11880 0 Bk
fh 4 EEHh e BT =iE FiE =il RFEX D
HMA EmE 360 10 3672 3456 670 SEER
W5 (=) 300 0.2 519 238 216 SEH




